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Topic:- General Knowledge

1) Who authored the story of ‘Pather Panchali’, the famous movie directed by Satyajit Ray? /

Fogeita ¥ gR1 SR v fren <udk vl & werieR o 32
1. Rabindranath Tagore / Ty TR

2. Saratchandra Chatterjee / RIS Tl

3. Bankim Chandra Chatterjee / CIER K il

4. Bibhutibhushan Bandopadhyay / fSfaror sigTareara

Correct Answer :-

. Bibhutibhushan Bandopadhyay / fSyfaysor sigareara

2) Who among the following freedom fighters was born in Bhavra village of Madhya Pradesh? /
e wadaar Il § 3§ S 7eveT & UTaRT i § Uer goi uT?

1. Shivaram Rajguru / Rraxm RUSHESY

2. Ram Prasad Bismil / X9 U976 fofera

3. Sukhdev Thapar / g&cd YTIR

4. Chandra Shekhar Azad / TERIGR 3MTSTG

Correct Answer :-

« Chandra Shekhar Azad / TGRRER 3{TSTE

3) Who has been appointed as the new Chief of ISRO? /
TR & ¢ 3 & U H ford fRgea frar man @2
1. Nambi Narayanan / et ARI™UA

2. Shailesh Nayak / QA D

3. Kiran Kumar / f301 PHR

4. K. Sivan / &. @@=

Correct Answer :-

« K. Sivan/®. fyam

4) How many elected seats are there in Madhya Pradesh Vidhan Sabha? /
AEAYS fauraHT # et faffaa i 82

1. 250

2.220

3.240

4,230



Correct Answer :-

« 230

5) India's first mission to the moon was called___ ./
THTRURAPTIIGATRA S AW A AT B
1. Aryabhata / TIYE

2. Avatar / 3ddR

3. Mangalyaan / 5T

4, Chandrayaan-1/ I&aTH-1

Correct Answer :-

« Chandrayaan-1/ Iggm-1

6) ‘Simhasth Kumbh Mela’ organised once in 12 years takes place on the bank of which one of the following rivers of Madhya
Pradesh? /

IE 991 § U OR 811 arar Rig®y o7 Aar 799 7e¥ $i {59 7 F de W GuA gar 2
1. Kshipra / f&mm

2. Tapti / ATt

3. Betwa / SAdT

4. Chambal / F%Sq

Correct Answer :-

+ Kshipra / farom

7) Karera, known for its artistic and fine work in iron, is located in which one of the following districts of Madhya Pradesh? /
e § FaTE® R I B & T uRis w1, 7o wew & fFrfefea 9 3 fra R A R 32

1. Anuppur / 3{TIYR

2. Barwani / a‘saFﬁ

3. Raisen / YYT

4. Shivpuri / RIag

Correct Answer :-

« Shivpuri / RIagd

8) Sir C.V. Raman was awarded the Nobel prize in Physics for his work on ./

WA AT # A vl F e vifas fagm A Tea Reer & gunfaa far mar A
1. Radio activation / 7Sl fafe=ur

2. Magnetics / ?{@W

3. Neutrino Oscillations / :Tgﬁ:ﬁ SieftaRe

4. Scattering of Light / UHIRI PEAE]

Correct Answer :-

o Scattering of Light / HRIRI PEAlEE



Uy | si° giiiRiz Mk fayfaeneaa &1 uge 39 A9 | ST STrdT oT:
1. Jabalpur Engineering College / SISCTYR ESIRRIUEINS]

2. Vikram University /faswa ﬁ%ﬁw

3. Jiwaji University / Sttareit fayfaemea

4. University of Saugor / R (@TIT) fayfoemea

Correct Answer :-

« University of Saugor / 4R (@ITIT) fayfaemera

10) S.R. Srinivasa Varadhan, an Indian American mathematician, won the in Mathematics for the year 2007. /
9. IR ffar aehF, v uRdlg smfvet nfvrag, A ad 2007 &, 0@ d  Sfam

1. Fields Medal / gy Ugdh

2. Chern Medal / 9 UG

3. Wolf Prize / dTeth JREHR

4. Abel Prize / T80 qREBHR

Correct Answer :-

. Abel Prize / T9d QRIHR

11) Which one of the following is a famous variety of saree belonging to Madhya Pradesh? /

Frufafea & 9 o1 9t 7wy & F6fta a1g) &1 0 TS ToR 82
1. Bomkai / STH®T

2. Chanderi / I3t

3. Bandhani / Sie

4. Paithani / G307

Correct Answer :-

o Chanderi/ ﬂéé

12) In terms of area, Madhya Pradesh is the _____largest state of India. /
PTFAFUSH A, IO WM URAST e Q TSI B

1. 18t/ gl

2. 4th /Ty

3.3/ dRRT

4.2M /) IR

Correct Answer :-

13) UNESCO Kalinga Prize (Samman) is given in the fieldof __ ./
TP PRI GRPR (AHA ST P & 4 fear s €1

1. Literature / S1igcd

2. Journalism / GGTRGT

3. Arts / hdl



4. Science / fag™

Correct Answer :-

« Science / ﬁ?‘ﬂ:f

14) During Indian Freedom Movement, name the third freedom fighter who was hanged along with Bhagat Singh and Rajguru on
23rd March 1931? /

YR TedT ieia & QIRT, 23 UTE 1931 1 WTd Rig 3R IoN® & A1y f6 3 TRy aafd &) wivdt &t 1 i
1. Chandra Shekhar Azad / GERIRER 3MTSIIG

2. Batukeshwar Dutt / SgHRaR Gl

3. Jatin Das / SIfdH G

4. Sukhdev Thapar / §E@Gd UTIR

Correct Answer :-

« Sukhdev Thapar / §@Gd UTIR

15) Bharat Bhavan, located in Bhopal, is a meeting ground for from various fields. /
Wure ¥ fR@ YR vae, fafia &t & ¥ e v firem yfr 81

1. politicians / REEGIE]

2. sportspersons / @aﬁq‘r

3. civil servants / RITqd Tam!

4. artists / HATDRI

Correct Answer :-

. artists / PATHRI

16) Which of the following are the examples of the oldest surviving rock-cut caves in India? /
Praffed & & S a1 wRd 3 o I g 3.3 T 3T IR0 82

1. Kanheri caves / @3] W

2. Elephanta caves / TfeTthel T:mﬁ

3. Ajanta caves / 3TSfdl Tﬂﬁ

4. Barabar caves / SRTSX ﬂq’—rﬁ

Correct Answer :-

« Barabar caves / RIS 1[th ﬁ

Topic:- General Hindi

1) IYFINF - FTYE FU A A BT ATR?
1. TOERTS



2) Hiagfe - & forg weh <iftr fa=de &t gfm)
1. YTTaq+Hfad

2. YITag+Hfaq

3. ﬂ-l'l'la?[ﬁm

4, ’J-P'Ia?[ﬂ-la?ﬁ

Correct Answer :-

. Yiaq+Hfad

3) Y -SUET AT Tg U A G P AT
1. 3difgd

2. 3ffufgd

3. 3rdifgd

4, 3ffufgd

Correct Answer :-

4) TR - & frg Wt <l fasde =t g
1. IR+

2. IRA+

3. A+

4, R+

Correct Answer :-

5) 3BT faEm T - Gerak &1 3rdf g fApei A A d I R
1. T Y AT TR &A1

2. g e 3T

3. P13 ag A A IR ITBT S FebTeT

4. FRER

Correct Answer :-

o G Y WP A1 HR GAT

6) WeTs ¥ U1 - getak &1 3 A fApen A A w w82
1. TRRIT & {7

2. B H ST 3T

3. B g J e

4. BRI GHT

Correct Answer :-

. B H ST T

7) ‘FEek A gAAPTITIAE S



1. 9gsiife T

2. fg

3. HHYRY GO
4. 3STTTHTS FHIH

Correct Answer :-

. 3fofiHTg THY

8) < U A g1 Aeg P A A BT W 82
1. 3qRe=if

2. 3UR

3. STHH

4. 3TYR

Correct Answer :-

9) S s AT TP & RO v g PR A I HT AT
1. 3%

2. 3=

3. 3=

4, 3%

Correct Answer :-

10) ‘gRERET # i & § 19 |1 99N 32
1. Igsiife T

2. fgramm

3. §g IAY

4. ST U

Correct Answer :-

. Sgsiife JHY

11) §R 39 &1 WRA Hra w12
1.9y

2.3%

3. I

4. YH

Correct Answer :-

12) TYEYT & forg Tt wataarh arat =gl #t ufda & g
1. YN, 3R, SlaR



2. YU, 3[EDR, FJaR
3. YT, 3EPR, AR
4. YT, 3ABR, SaX

Correct Answer :-
13) g Ry Ta! A & 3rf T 3= 31 1 HeuIT glel @ 98l DI HT G gIdl 82
1. Gepifad
2309
3. A9 Ihifaa
4. BIP ashifad

Correct Answer :-

. TN qepifa

14) U I IF W TUR W it T A,

dewT o Tig W Ard) @ =il | - A P A P A PR §2
1. SUHT DR

2. DI HADR

3. Y EABR

4. AT DR

Correct Answer :-

« 30T 3[dhR

Topic:- General English

1) Choose the correct form of modal auxiliary verb for the given sentence:

People not pluck flowers from public gardens.

1. should

2. would

3. shall

4. can

Correct Answer :-

+ should

2) Choose the option with the appropriate punctuation inserted for the given sentence:
You need three documents your passport your driving licence and a bank statement

1. You need: three documents your passport your driving licence and a bank statement.
2. You need three documents your passport your driving licence, and, a Bank Statement?
3. You need three documents: your passport, your driving licence, and a bank statement.

4. You need three documents; your passport, your driving licence. and a bank statement.

Correct Answer :-



» You need three documents: your passport, your driving licence, and a bank statement.
3) Choose the option that best fills in the sentence:

| am very late. | must reach there | can.

1. fastest

2. as fast as

3. fast as

4. too fast

Correct Answer :-

 asfastas

4) Choose appropriate articles for the given sentence:

The railway lines crossed ___ path of ___ villagers at __ junction.
1. the, the, a

2. the, a, an

3. a, an, the

4. a, an, the

Correct Answer :-

o the, the, a

5) Choose the correct form of tense for the given sentence:
Last summer, the country ____ one of its worst crises.

1. faced

2. had been facing

3. is facing

4. are facing

Correct Answer :-

« faced

6) Choose appropriate conjunctions for the given sentence:
____youlikeit ___ not, I will come to your house again this evening.
1. Whether, or

2. Whether, nor

3. After, as

4. Though, that,

Correct Answer :-

o Whether, or

7) Choose the correct form of clause for the given sentence:

you may go home.

1. If you will finished your assignment



2. Whenever you finish your assignment,

3. Because you finishes early

4. Though you may go,

Correct Answer :-

« Whenever you finish your assignment,

8) Choose the appropriate prepositions for the given sentence:

Sheyna walked __ an empty classroom and sat ___ her desk while she waited ___ other classmates to arrive.
1. while, near, to

2. into, at, for

3. along, for, from

4. in, for, from

Correct Answer :-

« into, at, for

9) Choose the option that is appropriate to fill in the blanks in the given sentence:
Rajeev was able to get away with and was given a light punishment due to his with the police officers.
1. impunity, friendly

2. impunity, connections

3. immunity, connection

4. immunity, friends

Correct Answer :-

« impunity, connections

10) Choose the option that best transforms the sentence into its other voice:

The Principal was addressing the students and teachers.

1. The students and teachers have being addressed by the Principal.

2. The students and teachers is being addressed by the Principal.

3. The students and teachers are being addressed by the Principal.

4. The students and teachers were being addressed by the Principal.

Correct Answer :-

« The students and teachers were being addressed by the Principal.

11) Choose the option that correctly spells the words to be filled in the given sentence:
The enjoyed the character that the actor portrayed.

1. spectetors, humorous

2. spectaturs, humorous

3. spectators, humorous

4. spectaters, humorus

Correct Answer :-

« spectators, humorous



12) Choose the option that is closest in meaning to the highlighted word in the given sentence:
Live-in relationships do occur among the upper class as an alternative lifestyle.

1. happen

2. persist

3. genuine

4. befall

Correct Answer :-

13) Choose the option that best transforms the given sentence using a question tag:
The boy didn’t know the visitor’s name,

1. wasn’t it?

2. isn’t it?

3. didn’t he?

4, did he?

Correct Answer :-

« did he?

14) Spot the error in the given sentence:

When he asked us why we were sitting idol, we told him that there was no work.
1. why we were sitting idol

2. we told him

3. When he asked us

4. that there was no work.

Correct Answer :-

« why we were sitting idol

Topic:- General Mathematics

1) If 3x — 5y + 5 = 0 is written in the form y = mx + ¢, then find the value of m and c. /
TR 3x — Sy +5= 0Pl y = mx + ¢ B =Y | for@1 ST, & m 3R ¢ BT A 7 IO

1.m=3,¢c=5



2) Two players play badminton match. If the probability of winning the match by player 1 is 0.48, then the probability of losing the
match by player 2 is: /

3 et dsfiie o1 v Taa 71 afe f@ardt 1 gr1 = Shax &t wiRiear o.48 8, 1 @ 2 gr1 49 gRA 3t wilean gif:
1.0.62
2.0.48
3.0.52
4.0.44

Correct Answer :-

- 0.48

3) A semicircular sheet of metal of diameter 28 cm is bent into an open conical cup. The depth of the cup is: /

28 T T AT U SHITATHR UTg UTFF B Uh G JSTHR WA & TSR | WIST 1T 8 | W B T8RS @
1. 14 cm / 14 9t

2.7 cm /7

3. 14V3 om [ 1443 T

4. TW3cm [ T3 QAT

Correct Answer :-

. 'hfgcm fl_J"\."'g Pz

4) The area of a square is 256 cm?. What could be the side of the square? /
T a1 T &A% 256 AT §1 g1 Y g @ gl Wahdl! 87

1. 14 cm / 14 94
2. 18 cm / 18 T
3.16 cm / 16 QT
4,12 cm/ 12 90T

Correct Answer :-

. 16cm/ 16 Q4

5) ABCD is a parallelogram. The angle bisectors of 2 A and #D intersect at O. The measure of
£AQODis: [

ABCD U& HATR Ig8A §1 £ATT LD & HIVT gfasdeid 0 W Ufd=siad 81d 81
£AOD FT AT &

1, 15"
2. 60°
3. 90°
4, 45
Correct Answer :-

. 90°



In the given figure, BD bisects #ABC and CD bisects ZACE. If #/DBC =x and /DCE =, then which of the following relations CORRECT? [
godd T&7 #, BD, 2ABC &I gfafasifad &iar § d=r CD. £ACE &I gfafaafaa &iar 81 3¢ «DBC=xaa«DCE=v &, dr
Trafafaa § ¥ sla argeg a6 &

A 4D

)
B' b \\t J:.
1. All of the above / JURTaT T

/D=2sA
2. 2

3 xty=2A++D

(D=2,a
. 2
7 1 )
) Simplify: — - =
3 -2 3 + 42
: 1
el Y

3-42 _3+w"5

3(vz - 1)
7

Correct Answer :-

3(v2 - 1)

8) 2 :
Obtain the other two zeroes of 4x* — 8x° —63x® + 6x + 45 _ if two of its zeroes are ﬁ and — ﬁ

2

4x* —8x —63x? +6x+45 F T 317 o U PIGIT, ARG 36F ar > ﬁ 3ﬂ?—£ gl



In the given figure, AB = AC. If BO and CO are the bisectors of £B and #C respectively, then which of the following relations is CORRECT? /
fgw arv 7 #, AB> AC §1 I BOTE CO HAM ,BTF £C & gfadomas §, o Meafoif@a & ¥ &la @ d9g & &2

B TR

1.OB=0C
2.0B < 0OC
3.0B > 0OC
4.BC> 0B +0C
Correct Answer :-

« OB>O0C

10) If i+£=—Il=wherex=;h[)a_ndj.-';t 0, then the value of x* — v is sl
y x

afg L4+l SETx20awy £ 0,99 x° — v & A 21
¥y X

1.-1

4.2

Correct Answer :-

4.x+ta

Correct Answer :-

12) If a garden roller 140) cm long covers an area of 43.12 m?. in 10 revolutions. then its diameter is: [
e 140 JAT oa1 UF IEA JoR 10 TFRT T 43.12 AR SF6 FT FOR KT 8, I ST
= B

1.98 cm / 98 JHT

2.84 cm /84 THT

3. 120 cm / 120 S

4.72 cm /72 QA

Correct Answer :-



. 98 cm /98 T

2
13) The multiplicative inverse of additive inverse of — is____ [
X
2
~ & TS I BT S e

=4

SN

4.

Correct Answer :-

14) AB, BC and CD are equal chords of a circle with O as centre and AD as diameter, then #/AOB =7 [

AB,BCUGCD UF I I GA =T &, foiHsT & O v &9 AD §.d9 £AOB=?

1, 30°

Topic:- General Logical Ability

1) 4 men and 6 women can complete a work in 8 days, while 3 men and 7 women can complete it in 10 days. In how many days will 25
women complete it? /

4739 3R 6 AfFATE 8 3 & U &1 &1 T HR TPd §, TP 3 3 3R 7 afgant 32ft &rf o) 10 = & 1 v Tpa &1 25
afgarsi ®) 39 S B R HA | fraq faT alie

1. 14 days /14 fas
2.12days /12 fa
3.17 days /17 &7
4.16 days / 16 &

Correct Answer :-

. 16days/ 16 aq

2) In what respective ratio must wheat at Rs. 62 per kg be mixed with wheat at Rs. 72 per kg, so that the mixture must be worth Rs.
64 per kg? /

m%hw&mmﬁ&v@uﬁrﬁwﬁﬁgaﬁnMﬁﬁmﬁﬁg%muﬁﬁaﬁ?mm,mﬁrmaﬁaﬁmmv@ﬁ
1144

1.4:3

2.3:4



3.1:4
4.4:1

Correct Answer :-

e« 4:1

3) How many seconds will a train 70 meters in length and travelling at the rate of 52 km/hr takes to pass another train 94 meter long,
proceeding in the same direction at the rate of 40 km/hr? /

52 fopHi/eeT 3 ITd A YT B IGT 70 Hie avd Yemst I fa=m # 40 fopei/der 1 =ra F 3mt 9 76 94 Hew &t vep o=y
IS B UR P34 § [P Ao &1 g0y A2

1.49.2 sec/49.2 S
2. 50 sec / 50 G S
3.40.3 sec / 40.3 ¥ S
4.49.4 sec / 49.4 ¥ S

Correct Answer :-

. 492 sec/49.2 AHS

4) In how many different ways can the letters of the word ‘AWARE’ be arranged? /

‘AWARE’ g & 31&R) &) forda 3reT afie) & suafud farar s gear 82

5) Study the following information carefully and answer the question given below.
Seven persons M, N, P, Q, R, S and T are sitting around a circle facing the centre. P is second to the left of S and third to the right of
M. T is third to the left of S. Q is not an immediate neighbour of S. N is not an immediate neighbour of M.

Who is the third to the right of N? /

fFrafafEd SeRt #f wryde ue ok = fow e vy &1 3w amd|

Ard AfR M, N, P, Q, R, S 3R T H% B SR T U gu Ut MAa AT F 33-ME I3 1 P, s B el SIRGER F R E 3R M
P grft SR TR WA W 1 T, s B Il 3R TN ™A R B Q, s #1 FApean st 78 81 N, M &1 Aipean usift 78T 81
N B gt 3R FRT 1T 82

1. T
2.P
3.Q
2. M

Correct Answer :-

« M

6) Subodh sold a house at a loss of 8%. If he had been able to sell it at a gain of 8%, it would have fetched Rs. 80 more than it did.
What was the cost price? /

Al 7 8% B g1 IR TP W= 9411 T 98 5 8% & ATH R 99 & A& giaT, o) ST S 80 $YA Siferw Hu¢ g1 | anma
e T UT?



1. Rs. 550 / 550 ¥Ud
2. Rs. 450 / 450 $UU
3. Rs. 400 / 400 3T
4. Rs. 500 / 500 30

Correct Answer :-

« Rs. 500/ 500 ¥UY

7) Two dice are thrown simultaneously. What is the probability of getting two numbers whose sum is even? /

2 Ui TP 1Y BP o4 & | 1 Ui dt @ 7yt 819 areft & I &1 ol 9w g

k| e | s

b | o=

| W

4.

Correct Answer :-

8) If in the number 589463271, all the odd digits are first arranged in ascending order and then all the even digits are arranged in
ascending order. Which digit will be second to the right of fifth digit from the right end? /

Tfe TBAT 589463271 ®, AW fawH 3ip) &) uga MR HH A sqafRua frar orar 8 ik fibe 9 sil &t 3mRIg) 0 A syafid
o Sirar 21 oY 3R | uied S & grft 3R R Si B |1 NI

1.4
2.2
3.6

4.5

Correct Answer :-

9) The average of y1, y2, and y3 is 14. Twice the sum of y2 and y3 is 30. What is the value of y1? /

y1, y2, 3 y3 BT 3T 14 31 y2 3R y3 & T ST SRT30 B 1 y1 BT T T ERM?

4,28

Correct Answer :-
o« 27

10) The ratio of the number of boys and girls in a school is 3:5, respectively. If there are 400 students in the school, then find the
number of girls in the school. /



TP Ipd H dsd| IR aSfHdl B JWAT BT SJUTd HHR: 3:5 71 T IHd | 400 BT 8, At ¥pd H dsfmdl ot H@&Im J1d
P

1. 150 girls / 150 TSfbai
2. 350 girls /350 TSHAT
3. 250 girls / 250 STl
4.325 girls / 325 TSl

Correct Answer :-

. 250 girls / 250 ST

11) In a certain code SAID is written as #%35 and RED is written as @65. How is RAISE written in that code? /

T fAfYd Fs |, SAID B #%35 F TUH 3R RED B @65 P 7Y # for@m orar 81 3 1S # RAISE FY 4 forar simem?
1. #%3@5

2. @Y%3H5

3. @%3#6

4. @6%HS

Correct Answer :-

. @%3#6

12) In a certain code BOARD is written as CNBQE. How is CRIME written in that code? /

% fAf3a H1s ®, BOARD &1 CNBQE & =7 ¥ forar wirar 81 33t #s # CRIME &) 34 forar smemm?
1. BHSND

2. QBHLD

3. DQJLF

4. SDINF

Correct Answer :-

13) In an examination, 84% of the candidates passed and 144 of them failed. How many candidates appeared? /
TS e H, 84% SWIGIR URT §U 3R 37H A 144 T 81 0| fam Svfigar udten & wnfra gu A2

1. 700

2. 800

3. 1000

4.900

Correct Answer :-

« 900

14) Ruplal is 6 years younger than Shatlal. After 8 years, Ruplal’s age will be three-fourth of the age of Shatlal. Find the present age
of Shatlal? /

FTUAT, TAATA T 6 99 DT 21 8 Ul S 91¢, TUATA Pt 3T IdaTd PI 39 I N-nUTE g1t | Iraera &t adw= 39 J1d

1. 15 years / 15 9%

2. 17 years / 17 CL



3. 18 years / 1899

4, 16 years / 16 Y

Correct Answer :-

o« l6years/ 16 ¥

Topic:- General Science

1) Choose the INCORRECT statement based on Nuclear Fusion. /
AFHB T TG’ & ATYR TR TTed S Q|
1. It is not a chain reaction. /
Tg U e sifiifsrar T 1
2. Large quantity of nuclear waste is left in this process. /
<9 uforan o U O § e S gedr gl
3. It involves union of 2 or more lighter nuclei to form a heavier nucleus. /
T U AN T & o 2 A1 it geos AT o1 T Aiferd ghar 8|
4. It requires extremely high temperature (>106 K). /

O IS I dYAM (106 K) B TGS I B |

Correct Answer :-

« Large quantity of nuclear waste is left in this process. /
T Ufeha & 4T A H AT Uiy gedr 31

2) What happens when a sound wave travels through a medium? /

T T § 919 TS eaf~ a1, TP HIeas § a1 Heell §2

1. Particles of the medium are transferred from one end to the other at a constant speed /
AR & 07 U Y & g v &t e R =1 w7 wmiaia g @l

2. Energy is transferred from one place to another/
ST T TATH F gEL T I¢ T gl gl

3. No energy transfer takes place /

4. Particle of the medium are transferred from one place to another at a variable speed along the direction of propagation of the wave /
HTETH F 0T, TRATHT AT T TF T & AL TATT T FaAT 5 F0 7 {907 5 I e Ead gid 8l

Correct Answer :-
« Energy is transferred from one place to another/

FSAT T AT F O T I AT gl gl

3) Leena and her sister wanted to prepare a 50 ml saturated solution of common salt in water in order to prepare mango pickle.
After adding sufficient salt and water and stirring it, they found some salt remaining undissolved in the solution. Which of the
following methods can be used to completely dissolve the salt? /

AT 3R IS T, 3MTH BT AR TR HIA & 1T oiet & GrA=a 70 &7 50 fefiefier Tqu faaa dur s ared &
i Ta® 3R it ST 3R fra™ & a1e, 3% faeas & famm gonm gen oo ue firan 7ve &) ¢ff ave @ 9ieq & g
frafafaa o ¥ fea faft 1 ugi fear s wear @2

1. By shaking the solution prepared /

TR 58 T faera= &) fgama |



2. By addition of a few gram of sugar to the solution /

faea o o am i STeaaR|

Decreasing the temperature of the solution bv 5°C to 10°C /

3 faeaa & digHAT &1 5°C F 10°C geahi|

Increasing the temperature of the solution by 5°C to 10°C /

4 oo & d9AT &1 5 H 10°C Ferll

Correct Answer :-

Increasing the temperature of the solution by 5°C to 10°C /

, e & amuaEnT &5 E10°C gerel

4) A single cell constitutes the whole organismin____ . /
THd DIRTDT # Q¥ offa &t wfea wedt 31

1. mango / oy

2. spirogyra / TGRSR

3. chlamydomonas / aﬁﬂﬁ@m

4, bread mould / IS A

Correct Answer :-

« chlamydomonas / FAATZS AT

5) One of the stable isotopes of a non-metallic element is used in the treatment of Goitre. The element is:/
TS TR-UTfa® ded & RR JHRIAPT & A TP ST YN 891 $ IUIR A §a1 81 98 dd §:

1.P

2. Si

3.1

4.Cl

Correct Answer :-

6) Which of the following is a CORRECT example of diffusion of a solid into a liquid? /

frafifea & & o9 91 59 § 31 & TR ST TE SeER0 82
1. Ink into water / O H ®ITGT

5 CuSO4 in water / Tl & CuSO4

5. CO2in water /Tl & CO2

4, O2in water /Ul / O2

Correct Answer :-

. CuS0y4in water / 91T & CuSO04

7) Which of the following organisms does not belong to Protista Kingdom? /

Frafifea & & $1 a1 e vifever s & wefta 72 32
1. Buglena / Il



2. Amoeba / 3YET
3. Penicillium / IR
4, Paramecium / YRR

Correct Answer :-

« Penicillium / UfRfforaH

8) Wells, canals, tanks and river lift systems are different methods of: /
P, e, T 3R 78 R yonfRri, 3 wft P & fafte a8 &
1. Water storage / STc] HERUT

2. Crop improvement /T YR

3. Irrigation / ﬁﬁﬂ'é;

4. Cropping pattern / <] Yo

Correct Answer :-

« Irrigation / REIE)

9) Name the tissue which has thin walled living cells enclosing a lot of intercellular spaces and stores nutrients and water./

I S BT A4 FaT¢ Forad el Slar arelt sifad SRt gidt & o 959 F SeAger Rad I &) 3Rl § iR vs
el 3R Ut Y TR Bl B

1. Collenchyma / d’la'fblsl-ll (R[ARIUIdDR)
2. Amoeba / 3T

3. Parenchyma / m (Hgd®)

4. Sclerenchyma / TRIRADBIHT (€@ Hdd)

Correct Answer :-

« Parenchyma / RT3 (Hgd®)

10) Find the momentum of a body of mass 200 g having a kinetic energy of 10 J. /
200 TTH FSHTT 9T T (At 7 wavr ey, Rreeh wfas s« 107 21

1. 20 kgm/s

2.0.2 kgm/s

3.2 kgm/s

4, 2000 kgm/s

Correct Answer :-

11) Newton’s first law of motion is also called as: /
= & T % wuw w7y 7g off w27 Sar g

1. Universal law of gravitation / |T&r &carwer &7 fH=re
2. Law of inertia / Stg<a &7 A9

3. Law of conservation of momentum / & T & &Z&0r s A

4. Law of conservation of energy / ST & H¥&A97 &7 Ao

Correct Answer :-



. Law of inertia / STg<a =T fFaw

12) The gravitational force between two objects depends on the .
I FEgel & ¥ Eeamtn g o e war gl

1. product of their masses / 37 FEATHT T TUAERA

2. size of the objects / =gl & AHTT

3. shape of the objects / F€qsT FT ATFHT

4. medium in which the objects are placed / wTea fSH avqU TET ST 8

Correct Answer :-

« product of their masses / 39 F=HTAT FT TUIAFA

13) Velocity of a body cannot be changed by:/

s e w1 A e g aiafia T2 e ST TR &:

1. Changing both the speed and direction of motion of the body / e it srfa T =rer i< fEor T=T Fr T=a=hv

2. Changing the shape of the body / fR=T= ¥ STHTE T TaeThv
3. Changing the speed of the body only / =<t =TT &t =TeT T T
4. Changing the direction of motion of the body only / %A fRerer #¥ i it femm #1 aza=:7|

Correct Answer :-
. Changing the shape of the body / == % T &7 T

14) The organisms that carry infectious agents from a sick person to a potential host are called .
TS AR AR & ShHIS Toic! B AU ASa & 0 § o o ardl sial a1 FET AT 7

1. bacteria /GﬁETE[[

2. pathogens / RUSEED

3. vectors / dlgh

4. viruses / fauTg]

Correct Answer :-
« vectors / dlgh

Topic:- General Computer

1) Which shortcut key is used to check spelling in MS Word 2007? /

THTH T3 2007 B QR Y 5w & g fov 2idwe Foit w1 Iuai foran wrar 82
1. Alt+F7

2. Alt+F5

3. Alt+F8

4. Alt +F6

Correct Answer :-

o Alt+F7

2) Which tab you need to access in order to edit header or footer? /

ST 3YAT P B UfEe H3A & T Smusp! fardy 29 ) Ty 37 1 STaRaHaT 32



1. Home tab / §1H ¢d

2. Page Layout tab / UST TI3T3C |
3. Insert tab / 37\‘:|_CF %H

4, Design tab / %Trﬂgq %a’

Correct Answer :-

« Insert tab / ﬁé Gl

3) In MS Excel 2010, the shortcut key to apply or remove strikethrough is: /
THTY T 2010 ¥, TIZHY F AR B 91 8¢ & g Aidwe Hoil &:
1. Ctrl+3

2. Ctrl+5

3. Ctrl+2

4. Ctrl+4

Correct Answer :-

o Ctrl+5

4) The action 'Ctrl+V' performs operation in the MS-Word 2007. /
THTH-TS 2007 § &R 'Cerl + V' BT AT Hear gl

1. Delete / f&cfle

2. Paste / ORC

3.Redo/ ﬂ?ﬁ'

4. Undo / 378

Correct Answer :-

. Paste /O

5) Among the following which one operation is not performed by the Page Layout tab in MS Word 2010? /

THT T8 2010 H, U1 A3 39 gR1 Fraferf@d & § #1991 ve Surad 71 fear san 82

1. Inserting columns in a page / P U § SiaH STaT

2. Insert Page and Section Breaks /U 3R YoM NP ST

3. Switch the pages between portrait and landscape layouts / qﬁé‘c’ IR ASTHY W33 & & t{@f 3! fag S/
4. Inserting the watermark / qlexATd ST

Correct Answer :-

« Insert Page and Section Breaks / UST 3R UG 8 ST
6) KB stands for / KB &1 ‘]:Uf q %:

1. Kilobyte / fhaiage

2. Kilobit / faifae

3. Kiliobit / fofersfifere

4. Kiliobyte / fferanamze

Correct Answer :-

. Kilobyte / freiaTge



7) What is the function performed by the ‘Format Painter’ in MS Word 2010? /
THTH T 2010 H 'Bie Yex' §RT a1 917 aren &1 Fa1 32
1. It copies only the size and border style from one object and apply it to another. /
Ig U 3Meoiae Y Had AFo 3R S1SX TIId Pl BT HdT § 3R 9 forddl o0 R AR R |
2. It copies only the colour from one object and apply it to another. /

Tg T SHTeoide U Had T D! 10! Pl ¢ AR 39 BT o TR AR Rl ¢

3. It copies only the font style from one object and apply it to another. /

Ig U Sfisoiae I Had Wi WIS B 10! HRal § 3R 34 [t 31 )R A Hral 81
4. It copies all of the formatting from one object and apply it to another one. /

g T SHeoide 4 Gl BIHTT 1 HIdT 1 § SR 34 el 3R IR A IRl 5|
Correct Answer :-

« It copies all of the formatting from one object and apply it to another one. /

g Ue SHfeoiae J TH BIATET B B BT § 3R 3 ol g R AT v g

8) Which among the basic numbers that are used in Binary Numerical System? /
I RS Red A ST $ oA arelt ga S Fafif@a § d e 8
1.2&3/29R3

2.1&3/13R3

3.1&2/13R2

4.08&1/03R 1

Correct Answer :-

c0&1/03R1

9) In the MS Word 2007, which option is not available in the Line and Page Breaks under the Pagination tab? /
THEY T3 2007 §, T 29 ¥ siatfa arga ok 9 3 & #19 °1 fReew Hieg T8 gar 22

1. Keep lines together / CACKSIESS] _g.,'ﬁﬂ?

2. Keep with next /P fayARe

3. Word control / 98 Eb_@?f

4, Window/Orphan control / fgeysift T@F’T

Correct Answer :-

. Word control / T8 Eb_@?f

10) In MS Excel 2007, what does sheet 'Tab Color'? /
THTH T 2007 #, '¢9 Her' e w1 T 82

1. Revert colour to the sheet tab / Rfie %ET R ATH Uj@ﬂ%{ oA %
2. To protect the sheet tab /2fe 3T P URede TR & %I'Q

3. Apply colour to the sheet tab /effe ST R AT N[ pdl %

4. Apply effect to the sheet tab / e da W hac NINCEGI %
Correct Answer :-

« Apply colour to the sheet tab /2ffe TTR AT R hdl %



11) In MS Excel 2010, is used for creating charts to represent numeric data. /

TATY U@ 2010 H, T SUUN T-ATHS Sl &1 UfafAita o34 & e a1 991 g fpar wmar 81
1. Spreadsheet / SIS

2. Page Layout / UGl W3T3C

3. Graphics / Tftray

4. Database / SCTo

Correct Answer :-

« Graphics / BIRT]

12) In MS Excel 2007, button will display a menu of visual styles that can be applied to your theme. /

THTH TR 2007 H, e fagere s &1 U A+ ueRia Hm, ot smuet i w oy foar s waan 31
1. Picture / fUgR

2. Theme / 10

3. Colours / HE™

4. Effects / s'm

Correct Answer :-

« Effects/ _Sfm

13) In MS Excel 2010, which option will display colored bars that are indicative of the value in the cell? /
THTH TR 2010 §, B A1 fIpeq Tfi9 IR @1 weflRia sam, St {5 Sa A 3o &1 Gdae gar g2
1. Color Scales / HTR WH &

2. Top/Bottom Rules / eiu/Eicy &

3. Highlight Cells Rules / BR3¢ Ued & &

4. Data Bars / S¢T a1

Correct Answer :-

« Data Bars / ST 9

14) In MS Word 2010, Where does the copy, cut and paste items gets stored temporarily? /
THTH TS 2010 §, B, Be 3R U 3MgeH IATH U T Fal Gueid fhd & g2

1. Monitor / AT

2. Clipboard / faeoais

3. Recycle bin / e foq

4. Any external storage / aﬂs‘ QEFHE:TT'T TR

Correct Answer :-

« Clipboard / faeuas

Topic:- Mechanical Engineering

1) TQM includes ./
Tam # gfeafera 81

1. scrapping of defects / It @t ThfthT



2. customer satisfaction and continuous improvement / ITgh ﬂﬁf@ 3R FRM® JUR
3. rework / GT: BT
4. time management / IHY YT

Correct Answer :-

« customer satisfaction and continuous improvement / ITeh H’g’@ 3R FRER JUR

2) Mollier chart is plotted between /
MR 9 F da ¥ smafIa frarsrar 21

1. pressure and volume / GQId 3R 3a

2. entropy and temperature / Sch H-HIY 3R o=
3. enthalpy and entropy / JUITSH 3R IehH-ATT
4, enthalpy and temperature /t{[Uﬁ'&:[ 3R dgHE

Correct Answer :-

- enthalpy and entropy / QUITSH 3R IcHH-ATY

3) Two pipes of length 800m, 1000m and diameter 500 mm and 600 mm respectively are connected in series. If these pipes are to be
replaced by a single pipe of length 1800m, then find its diameter? /

3 ARpTE oY WS HHT: 800 H, 1000 HY 3T 3T 500 FHT 3R 600 At &, Aoft & waifora &1 51 P13 B 1800 HY
TS B Upd AfereT # ufawutiid far i 8, 39eT o fa=n ghme

1.0.68m

2.0.65m

3.0.54m

4,0.56m

Correct Answer :-

e 0.54m

4) Following are the advantages of CAD/CAM, EXCEPT for: /

Frafafea # @ =o %1 g, 979 CAD/CAM S ATH §:

1. Easy collaboration in department and between companies / framT sii Fufa=t & = smame wgamm

2. Storage space is reduced significantly / T2t % forT 9 S9g ATRT ST 21

3. Can be simulated to get a realistic picture / e FTETTA=haT & fAshe qeate 71 * forg ﬁ'ﬂ?ﬁ:’ T ST T B
4. High initial cost / 37 LI ATTT

Correct Answer :-

« High initial cost / 37 LIk ATTT

5) Following statements are TRUE for Plasma Arc Cutting (PAC), Except for: /

TATSHT A wiewr (FuET) F an § FaferfeT wa a7 &, T # Sisa

1. Sources of heat generation in PAC is recombination of ions and electrons into atoms and/or recombination of atoms into molecules /

frudY (PAC) & AT Hafar & &1 awTopelt § S sfi sordel=] o1 F:EAIS & /AT ATt § STopsi &7 .9 2|

2. PAC can be used to cut any material having high thermal conductivity, high heat capacity and good oxidation resistance. /

IF FEH ATTHRAT, IF ITT SAHAT 3T 318 Aterefimzor wfarer areft freft off sy v srewr 3 forw froeft (PAC) &1 Suet fova ST wrekat
2l



3. PAC cannot be used to cut the materials which cannot be cut by ordinary methods like oxy-fuel cutting. /
T (PAC) FT ITART 3T AT &7 e & forw 751 o ST aerar & g ster-wger i S areme a4t | FTel 751 ST ThaT g
Very high temperature about 28000°C — 30000C° is reached during PAC./

4, T (PAC) F =TT Agd AT TTIT T STl & ST &1 28000°C — 30000°C TF T STerT &)

Correct Answer :-

« PAC cannot be used to cut the materials which cannot be cut by ordinary methods like oxy-fuel cutting. /
T (PAC) FT ITANT I ATHIAT T e o (o70 Tgl AT ST ThaT & FoIeg, A Fel{-RIe ST ST AT L1 & Tl qal S 9T 2l

6) A piece of cork weighing 6 kg floats in water with 60% of its volume under the liquid. Determine the specific gravity of cork. /

6 P I 9TEl B BT TS CHST avd P 1 60% AT & [T U & a1 81 Fidb o1 AR Faredor Fufa
P

1. 04
2.0.6
3.0.12

4.1

Correct Answer :-

« 0.6

7) Go and Not-Go gauges must fulfil principle. /

T 3R Afe-M AT BT Rt sraza gut He anfge|
1. Zeiss / S

2. Taylor’s / CeR
3. Johansson Mikrokator / WW
4. Solex / @@a%r

Correct Answer :-

« Taylor’s /TR

8) FRP is used in all the following applications, EXCEPT for: /

THATCAT T ST A1 g 70 Fefy st & 36T St 8, U & sss:

1. Processing of wet or dry gases / ITe(T AT Gt 7 Yeehawr &

2. Construction of chemical storage tanks / TTHTAH® TETT0r & fAAToT &

3. Cutting tools / FTe F ITHLN H

4. Renewal of constructed facilities infrastructure / T feramsti  FiAamdr @i= % FATHT §

Correct Answer :-

« Cutting tools / T o TR H

9) A shaper machine is defined by: /

TP AR 7T B & g1 uRvHTia fra man 31
1. Stroke length / @ﬁﬁ?ﬁﬁf

2. Motor power / 39 CARIES]

3. Mass of machine / TR &1 GeqHT



4, Rate size / Q¥ DI 3THR

Correct Answer :-

« Stroke length / ijaﬁaaﬁ

10) Shear plane angle is given by: /

YYD FHAA BI0T 7 gRT feam siran &:

11) Ruby crystal contains aluminum oxide and .

= fbeea # TegHifray aifgmss ok RUIE KRG
1. nickel / e d

2. tungsten / TS

3. chromium / SIHIH

4. titanium / T AT

Correct Answer :-

« chromium / SPIHTH

12) A cylindrical pair that is categorized as lower pair in spatial mechanisms has ___ degrees of freedom (DOF). /
TH SATHRI SITST S worfae & # (= sie % &9 § aefisa & o &, s i sy (DOF) &1

1.3

2.0

3.1

4.2

Correct Answer :-

. 2

13) Datum Reference must to be specified in following GD&T symbols, EXCEPT for: /

e GD&T Tt & T dadt i ST T1iRY, v i segs:

Concentricity / s 44

{, ——

2. U Flatness / 9197



1

3. Perpendicularity / Siaaqd
4. / / Parallelism / FHTALAT

Correct Answer :-

. U Flatness / 92197

14) Transducer is a device which transforms ./

THSTAC TH TR ST Fragwar &l

1. non-electrical input into non-electrical output / FZ-fa=[ear smTa #r f-fEerta g &
2. electrical input into electrical output / Fre[i=r smra it far=rei v &

3. electrical input to non-electrical output / AT IRTa FT e-faeh v &

4. non-electrical input to electrical output / ¥Z-fEr=retar smra & feeea v &

Correct Answer :-

- non-electrical input to electrical output / FZ-far=zretar smra & faepea v &

15) is an instrument used for angular measurement. /
T ST & S FrvfiE ATae % forg s fRaT strar
1. Dial gauge / TTI I

2. Vernier caliper / A=< Fefiae

3. Micrometer / ATSHIHIET

4. Clinometer / fFereetest

Correct Answer :-

« Clinometer / = rHIas

16) is a machine member used to connect the driving shaft to the driven shaft so that driven shaft can be started or stopped
at users will, without stopping the driving shaft. /

T FEfIT ST & S grefaT arwe FY el arwe F sig % forg s fova strat € arfe grefE amee #y Tk fa,
STTTHAT T T5GT F TTHTT ATAF ATFE T [F AT §€ T (4T T Tl

1. Propeller shaft / ST 9T
2. Gearbox / Rrat=a

3. Braking system / I3t foreesr
4. Clutch / &9

Correct Answer :-

« Clutch / &Id

17) blocks the flow of coolant to the radiator until the engine has warmed up. /
_ fafeve 9 Maae & uare &) edr @ o9 a9 b o9 T 81 g S|

1. Radiator temperature controller / fafdhRas aToH Fi® (FSTER THRTR HeleR)

2. Radiator valve / fafde® area (ST dica)



3. Thermostat / GISEIIL (Wﬁ@?)
4. Pressure cap / &T8 210 (=R $Y)

Correct Answer :-

« Thermostat / ATIRITGY (wﬁé?)

18) points are required to draw a line using absolute coordinates. /
Ry APl P s gTrE A s g g smaxas €
1. Four / dR

2. Three / RIG!

3. Two / al

4. One / U

Correct Answer :-

. Two/a

19) A plate 50 mm wide and 12.5 mm thick is to be welded to another plate by means of parallel fillet welds. The plates are subjected
to a load of 50 kN. If allowable shear strength to be 56 MPa, then the length of the weld will be .

TF 50 mm =TT 3T 12.5 mm HE T FT THTATGE TTEHT I0€ F ATEAH & AL T | a0 AT T g1 T4 50 kN F 9T & e
MY | T TfiTe Sra=qor 577 &T 56 MPa &Y, A7 o€ $T #aT8 gft

1. 51.5 mm
2.50.5 mm
3.49.5 mm
4. 52.5 mm
Correct Answer :-
« 50.5 mm

20) Hypereutectoid steels have carbon percentage approximately in the range of: /
BEUCGFeITe T § e TIqerd Srs T 1 AT F e Tt R
1.0-0.8%

2.0.75-0.85%

3.2-6.67%

4.0.8-2%

Correct Answer :-

+ 0.8-2%

21) ‘Xrefs’ is used in AutoCAD to: /

AETHT F Xrefs’ FT ITFRT 1 3 forg frrm stram 2:

1. Insert any drawing file as an external reference in the current drawing /

TAUTT ST H a1y 929 F =9 § By off g5 wreer v witafoa w1 & fow

2. Attach selected DWG files as external references /
LT TEHT F T H T SITeegol BIEw! il Tod HL F oI7
3. Create a block definition from selected objects /

T T A oraed | 51 TICATT a1 o o7



4. Manage layer and layer properties /
AT 3T AT TN T T 18 et o6 for

Correct Answer :-

« Insert any drawing file as an external reference in the current drawing /

FAUTH ST H gy daet & =7 § Freft ofF grar wreer 1 wfvatora w1 F fow

22) ‘Sieve Number’ is in the range of ____for very fine grain in grinding wheels. /
e arer Tieal § aga ar arw g 6 g Ha e W HAr A R

1.30-60

2.220 - 600

3.70-180

4.10-24

Correct Answer :-

« 220-600

23) A gating ratio is a:b:c. What does ‘a’ signifies? /
Wﬁﬁﬂaﬂqﬁa:b:cél ‘2’ PTUTAS FIT 82

1. Runner area / T8 &3

2. Pouring basin area / SR & ST

3. Sprue area / 31833[

4. Number of gates /glﬁ Eakirel

Correct Answer :-

« Sprue area / g{\éﬁ

24) TTT is also known as: /

HAHE = FEqH ot T ATAT R

1. Isochoric Transformation / 3SR T
2. Isotropic Transformation / mﬁﬂ? TREa
3. Isothermal Transformation / STEHTeHT TREdT
4, Isobaric Transformation / WﬁTﬁiﬁ TR

Correct Answer :-

« Isothermal Transformation / STEHITH TTad—T

25) A car starts from rest and accelerates uniformly to a speed of 72km per hour over 500m. If a further acceleration raises the
speed to 90km per hour in 10 seconds. The further distance moved by car is .

TF FTT A FT STFEAT F L& gt & 37T 500 Hiew qh 72 Fret wiy et it 7 & 960 9 F o Jg<dt 81 7f T i @< 91 10
Fehe # 90 el iy sier a% =7 Tt § AV 7 FTRy a7 T A 21

1.225m
2.200m
3. 150m

4. 250m



Correct Answer :-

o 225m

26) A simple gear train has three gear wheels.The first gear has 20 teeth, second gear has 10 teeth and the third gear 40 teeth. The
speed ratio of third gear to first gear and the direction are respectively: /

TP ATYRY R 39 A i R & ufye §1 e R & 20 g 8, g FraR & 10 gia 3R Fi R & 40 gia ¥ f e e
H1Ugd R & T1a 3rguTd iR fa=m &:

1. 2 and opposite direction / 2 IR faudia ¥
2.2 and same direction /2 3T A f&¥

and opposite direction /% 3k faoda e

b | o=

and same direction /% 3R @A e

b | =

4.

Correct Answer :-

and same direction /% 3 gH= e

b | =

27) Sine bar specification can be expressed in /

134 IR fafadw o ored fpar ST 9Par gl

1. centre distance between the two rollers and size of rollers / &I IR 3R AR P 3MMHR & HH HEY @
2. its total length / Wﬁﬁﬂa’[‘sﬁ

3. weight of sine bar / HIg- dR [ dolq

4. length and width of rollers / W @I ?ng 3‘ﬁ? Eﬁ?;l_s:

Correct Answer :-

- centre distance between the two rollers and size of rollers / I TR 3R AR & MBR &b A B @

28) Choose the INCORRECT statement about Cam and Follower mechanism. /

& 3R BiaeR AbIo0 & IR & SR FYT A |

1. Cams can provide unusual and irregular motions that may be impossible with the other types of mechanisms /
F ST SR A TR TEH R Wad § S 3 THR & BT 91y SR 8 9 7

2. Cam makes a higher kinematic pair with follower /

B3R P 1Y HH T I WIad! (BHACIH) Sel ST 8|

3. The Cams are usually rotated at uniform speed by a shaft, but the follower motion is predetermined and will be according to the shape of
the cam /

?;ﬁ&nﬂ?ﬁvwwwmmﬂﬁvﬁwwaﬁ%Wuﬁﬁmﬁwﬁqﬁﬁﬁﬁaﬁ%sﬁwh%&w%&w
|

4, Manufacturing of Cams is cheap, and Cams don’t have a wear effect /
F4 1 fafaior T giar 8, 3TR B &1 o RiTs uvTa (R sthae) el grar gl
Correct Answer :-

» Manufacturing of Cams is cheap, and Cams don’t have a wear effect /

FY &1 fafmior T 81T B, 3R o1 RaRTS uHe (R gthae) T elaT 81

29) Discontinuity in geometry causes stress concentration in machine components.Which of the following is NOT a method of
alleviating stress concentration at corner of a stepped shaft? /



STfafa # SidvTa, A= ges! & ufaaa Hahgur 1 ST 94dT 2 | FufiifEd # 9 #1991 RE Wi & S W) Ufdad egor
P BH B BT ANBT T81 82

1. Providing fillet / TT&aT &
2. Providing groove / G &

3. Providing washer / IR ST
4. Providing fastener / I G

Correct Answer :-

« Providing fastener / FHI &

30) If an engine is connected to a dynamometer which gives brake output torque reading of 200Nm at 3600 RPM, then the brake
power is: /

gfe IraaaHTd (STgAHER) | TST TP §oi &l 3600 RPM TR 200Nm ®1 3 3T3eYe gargul HfET a1 8, @Y 9% &mar g:
1. 12kW
2. 104 kW
3.55 kW
4.75 kW

Correct Answer :-

« 75kW

31) Slip line field theory for orthogonal cutting is proposed by: /

AT BT (ST B & forg e arg= wies Risia e g1 wRanfaa fean man &:
1. Taylor / TR

2. Benedict / §9TSdC

3. Merchant / Fid@

4. Lee and Shaffer / Tt T8 QR

Correct Answer :-

« Lee and Shaffer / &l U8 AHR

32) What happens in air standard efficiency? /

TG AP G&aT § T giaT 82

1. It remains constant with compression ratio. / g Tdtea S{UTd Y @R?@T‘ﬁ %I

2. It is independent of compression ratio. / g Tdteqa STUTd I ada %I

3. It increases with increase in compression ratio. / g s S{UTd ﬁq@ &1y E@T‘ﬁ %I
4. It increases with decrease in compression ratio. / g TdteA SRCIG THd & Iy E—G!T‘ﬂ %I

Correct Answer :-

« It increases with increase in compression ratio. / g s ~RCIG ﬁq@ >y Ela?ﬁ %I
33) Consider the given problem:

5x+y<100... (1)

x+y<60..(2)

x>0..03)

y=0..4)



If we solve the above linear equations by graphical method of Linear Programming, then the following point will not form the
boundary of the feasible region.

Faforfaa e w e w-

5x +y <100 ... (1)

X+y<60...(2)

x20...(3)

y20..(d)

Ff% g s TmH F afhae fafer g o s afiae st ga fa 8, Al e fig_ =ragrd &= & A7 781 aaram
1. (60,0)

2.(20,0)

3. (0,60)

4.(10,50)

Correct Answer :-

+ (60,0)

34) For a reversible adiabatic process, change in entropy is ./
% Iopyuity fRRTS uftkar & forg, verdt & uftada 21
1.0

c, %1 T
, og—
2 Ty

C, o x 1 T,
oq-2
3. ot

Rx 1 .
og—
4. Vi

Correct Answer :-

35) In CNC system if all moving commands are referred to one reference system, then it is called ./

Heawt (ene) et |, afe Faft wfaw wrist &) v der yorrell # Weffa fParemars, dis®_ derwmargl
1. Open system / el YISt

2. Incremental system / 3G el YOG

3. Absolute system / JOf FOTTeit

4. Closed loop system / Sgd YT YUITeit

Correct Answer :-

+ Absolute system / U;UTEI'UI'IF‘?[

36) If two bars having an identical geometry made of steel and aluminum are subjected to axial force ‘F’, then which of the following
statements is TRUE? /

W 3R gfafam @ o= gae Sfifa & 6t aR, sigfta 9a F & o= § | Fufaf@a A S s srsym aa 82
1. Both the bars experience the same value of stress / Eﬁ:ﬁ IR d91d & JHM 9 BT SRGE GG %l

2. Aluminum bar experiences a higher value of stress / Q@&lﬁ'ﬂﬂ R 91 & I T BT S{IHT Hdl H

3. Steel bar experiences a higher value of strain / ®1d SR, [T & 3= A BT 3HT HRAT S|

4. Steel bar experiences a higher value of stress / T dR, dd1d & I T BT S{IHT Hdl % |


http://www.shabdkosh.com/translate/%E0%A4%B8%E0%A4%82%E0%A4%B5%E0%A5%83%E0%A4%A4%20%E0%A4%AA%E0%A4%BE%E0%A4%B6/%E0%A4%B8%E0%A4%82%E0%A4%B5%E0%A5%83%E0%A4%A4%20%E0%A4%AA%E0%A4%BE%E0%A4%B6-meaning-in-Hindi-English

Correct Answer :-

« Both the bars experience the same value of stress / Eﬁ:ﬁ IR d91d & JHM 9 BT SR GG %l

37) Which of the following is an example of non-financial incentive? /
i & @ Ft9 91 ic-Rfta Neargat w1 1 Saer &7

1. Stock option / Faia faseT

2. Bonus / S99

3. Profit sharing / ST ATAT FHLAT

4, Voucher / a3

Correct Answer :-

« Voucher / dI3=R

38) Which of the following figures represents BCC cubic lattice? /

frafafae o @ o1 @t snpfa srdSEa @il w1 el @1 faffie st 82

Correct Answer :-

39) Which of the following refrigerants is used for refrigeration in airplanes? /
el & & 17 a7 IWeee gars Ser & Wk ¥ e s s Gt smar 32
1. CFC

2. Air/&dl

3. CO2

4, NHs

Correct Answer :-

o Air/edl



40) Which of the following causes the apparent stress to rapidly decrease in a stress—strain diagram? /

wfaaa-fapfa smye # fFrafafeaa & @ #1991 sarfkas ufaad & doft & g BT R a1 32
1. Necking /AT

2. Resonance / W @Gﬁﬁﬂ)
3. Glass transition / &1d HehHUI

4. Hysteresis / AUy (%@ﬁﬁm)

Correct Answer :-

 Necking / At

41) Which of the following parameters is considered while designing an automotive gearbox? /

TaTierd R 9o 31 sifirmeud (s wva aw fve amdet R R fsar srar 22
1. Load profile only / %ad YR UG (A8 UHT3d)

2. Driving style only / ad a1aH T&id (STSAT w3d)

3. Road profile only / Had TS& WA (IS UHTIE)

4. All of the above / JURIad qaft

Correct Answer :-

« All of the above / IRIad g+t

42) Which of the following is a single slider crank inversion? /
Frufafea & 4 o9 toa fFuds s ufaa= 82

1. Watt’s indicator / dIC T dbdep

2. Beam engine / RUT SO

3. Bull engine /TQKTETTF‘T

4, Coupling rod of locomotive / X o CAR S CAREal
Correct Answer :-

« Bull engine / §d §9

43) Which of the following is NOT the part of 6M’s of Six Sigma? /
frr=ferfaa & @ o1 a1 ey R (Six Sigma) & 6M37[1%WT7|€T%?
1. Motion / dI¢T

2. Materials / ST

3. Machine / 1

4, Man / G‘I'Iﬂjﬁ

Correct Answer :-

« Motion / dTd

44) Which of the following cycles is most suitable for steam power plants? /
Feafafea & & #19 a1 76 6" ITax ey & e S 97 9% 999 S 82
1. Brayton cycle / /& ATt

2. Diesel cycle / STer ATt

3. Otto cycle / 32T AT et



4. Rankine cycle / ¥ Az

Correct Answer :-

« Rankine cycle / ¥ ATzl

45) Which of the following gears is used in the steering wheel of car? /
I F T8I0 e § fwfofaa § & i a1 {1 saar far srar g2
1. Bevel / I3

2. Helical / 3forser

3. Spur / ¥GT

4. Rack and pinion / T U= fufaa=

Correct Answer :-

« Rack and pinion / ¥ U= fufaa=

46) The transition from laminar to turbulent flows in circular or non-circular pipes does not depend on: /
T AT ST UIgUl § yuigelty & Wafsy yarg ® uRad - w R =8 ovar:

1. Cross section of the pipe / UIRY & HTURY I

2. Kinematic viscosity of the fluid / &d 1 Q\F{W REIEGII

3. Length of the pipe / UTgU aﬁm

4. Velocity of the fluid / &d & a1

Correct Answer :-

« Length of the pipe / UTg" ao"faaﬁ

47) The total float on the critical path in CPM is .
Hfron & frferar My R e §

1. negative / ThRTICHH

2. positive fraction / FHTTH forer

3. positive / TRTLCHH

4. zero / [

Correct Answer :-

48) The main purpose of ‘Break Even Analysis’ is to: /

TR g g R

1. Decrease the cost of manufacturing / ffRaTor £ AT ST

2. Increase profit margin on a product / FFHT ITITE 9T AT AT TE2MET

3. Increase sales of an organization / Ue &5 T farsfy & i F2A7

4. Determine the minimum quantity that must be produced to earn profit / AT AT 1T IeqTid RUERRIE! et T

Correct Answer :-

« Determine the minimum quantity that must be produced to earn profit / AT FATT % forT Ieariad =gAqw "= et T



49) The boundary layer on a flat plate is called laminar boundary layer, if: /

TS GHTd W TR T R (T8S] AR) FI Uty WA Rd (AR 6 duR) w81 oA 8, afe:
1. None of the above /G'qéaﬁ =) ?ﬁé :|_E>p[

2. Reynolds number is less than 4000 / ﬁ@ TAT 4000 A HH G

3. Reynolds number is less than 2000 / Q:r@ﬂ AT 2000 T HH %

4, Reynolds number is less than 5 = 105/ iHU(*S"H TEAT 5% 10°H &F &

Correct Answer :-

. Revnolds number is less than 5 = 105/ iﬂuvg‘_'ﬂ OEAT 5= 10°8 &H 'E,L

50) The most commonly used method for making Jewellery is: /
ATSTIOT ST o Forw wad srfers geawmer 3T ST et ar 8:
1. Sand casting / &< e

2. Centrifugal casting / SvETFTA FHTET

3. Die casting / ST HT{eaT

4. Investment casting / TeEaHE TR

Correct Answer :-

« Investment casting / ZFAEEHE (e

51) The most commonly used spring for truck, trailer, and railway carriages is: /
TH, T, TS HIuw F Fore go@ srfers geauTer B s e e 2

1. Helical spring / Zfersher fERT

2. Extension spring / TFFS fE&RT

3. Compression spring / &= f&5mm

4. Leaf spring / =T f&[T

Correct Answer :-

« Leaf spring / e f&mr

52) The operation of bevelling the extreme end of a workpiece is called ./
TP PGS & fau R @ T drifRzE_ wgaErsl

1. Eccentric turning /W'ﬁh@ (—E@%?ﬁr{)

2. Thread cutting / T i (Q@’ 37—%‘1)

3. Chamfering / BT

4, Knurling / TR

Correct Answer :-

 Chamfering / ELv o

53) The square of the standard deviation is called ./
A fges w1t FEaAr gl
1. Geometric / WﬁﬁE

2. Variable /I



3. Variance / UHRUT
4. Standard deviation / - fage

Correct Answer :-

« Variance / U8RU[

54) The energy absorbed in the springs is due to ./

R/ F samifa el Sorusdel
1. Resilience / fafifaa

2. Factor of safety / gR&T & BRD

3. Elasticity / UATRIdT

4. Stiffness / m

Correct Answer :-

« Resilience / yfafufaa

55) The shear strain in metal cutting is: /
UTg Pt HeTs | rueyvr fypfa AT 8:
1, tan(p-a)jtcot @
2 sin{g-c)ytcot @
3. cos(p-a)tcot ©
4, Cot (p-a)tcot @
Correct Answer :-
. tan{p-a)tcot @

56) The capacity of a material to absorb energy when it is elastically deformed is: /

W9 39 dreR & A fawd frar wirar @ ot uerd @ St & sawifya w33 & fog armh #t emar A 8
1. Resilience / =g dl

2. Ductility / d=IdT

3. Toughness | HERAT

4. Yield stress / IRTHd Ufdad (?ﬂ?s' eﬂ)

Correct Answer :-

« Resilience / gD dl

57) The clutch is typically placed in between engine and ./
FAAIMAR WSS S IW AT gl

1. transmission / TERUT @mﬁﬁ’ﬂ)

2. torque converter / T uRade (E'\I% am‘&')

3. wheel axle / Th Y3 (GBI Vel
4, propeller shaft / BICERS (GiTIeeR TTUe)

Correct Answer :-

« transmission / TTROT (CFATHR)



58) The factor of safety while designing components is high when: /
UTH! ) fEWT3 Hd THY R UIP 3 gial & od:
1. External force on machine element is static /
I 7 TR Se-a RR B §
2. External force on machine element is zero /
I e TR STel-Se A Bl §
3. External force on machine element does not changes with respect to time /
A @ R STEl-9d 90 & ey H 951 gaadl
4. External force on machine is impact /
TR R STel-9 &1 UHTd TSl §
Correct Answer :-

« External force on machine is impact /

=Y R STel-9 &1 UHTd USdl §

59) The margin or marginal pitch in riveted joints is the ./
BEESEIECU R INERIEINEEREE BT i H
1. shortest distance between two successive rows in a multiple riveted joint /

g % Raee TiEea § &1 AT uinat o S i Ja9 Bt 1 2

2. distance between two centers of the consecutive rivets in a single row /
g U dfth | srfatee Reed % 1 =0 F = f @2

3. distance between the center of the rivet hole to the nearest edge of the plate /
2 ¥ P R w R R RE F R A A et )

4. distance between the centers of rivets in adjacent rows of zigzag riveted joint /
2 T frife srieae i e ARt & R w Sy A A 2

Correct Answer :-

« distance between the center of the rivet hole to the nearest edge of the plate /

g wie & Mfeaa M w REe s R Fa s da g 2

60) The angular displacement of the steering axis from the vertical axis of a steered wheel in a vehicle is called ./

T a18+ § U Uiy @1 Seaier srar & ufkare sief &1 ivfty fawima= FEamErg|
1. Pitch angle / fO@ ®I0T

2. Camber angle / Ihdl 10T

3. Roll angle / TICH 10T

4. Caster angle / SATRDHR HITT

Correct Answer :-

« Caster angle / Gl §$ BT

61) The Poisson’s ratio for rubber is ./
TS ¥ e @il ®1 SrguTa 2l

1.04



2.0
3.05
4.0.2

Correct Answer :-

- 05

62) The function of lubrication in the engine is to: /

AR PIORE : |

1. Keep the parts cool only / &Had %@ PSS

2. All of the above / JURTar THY

3. Minimize the wear in moving parts only / Had MaRie e & s &t YAdTH PRAT
4. Wash the dirt away from the engine only / &I SO 3 it Bl YT

Correct Answer :-

« All of the above / IR gt

63) The functional requirement of spark plug is to allow a spark to form i
WS & B ST TaRadhal Teb R &Y srgafa TR 1

1. in the inlet port to initiate combustion process /Ela'-‘QT o ok g Uiha UR™Y HA P
2. none of the above /mﬁﬁﬁs‘ﬁ

3. within combustion chamber to initiate burning / G861 P& P 3 Ged UR™H B DI
4. combustion if self-ignition does not happen / tlﬁ' d-qed :ﬁ}[a?ﬁ a‘e::raﬁ

Correct Answer :-

« within combustion chamber to initiate burning / g P& & 3G G5 URT XA DI

64) The nominal distance of a boundary layer is defined from the wall to a point, where the velocity .
T T WA B arafa® g, AR | U g o ufvunia &Y s 8, wgi an

1. is within 90% of the asymptotic limit / WW H90% B 'J-ﬁT‘R_Eﬁ_dT %I

2. 18 99% less than the asymptotic limit / &H?I?Cl"\’ﬁ Ty 99% Wa?ﬂ %I

3. is 99% if its asymptotic limit / 99% BIdT & ATG T8 SA-aea=il AT

4. ceases to be laminar / twfa?ﬂﬂ (?Iﬁl'vn?) m HHTWT _Epf NIGH %I

Correct Answer :-

. i5 99% if its asymptotic limit / 99% BIdT § A a8 =il a1 al

65) The direction of linear velocity of any point on the kinematic link relative to any other point on the same kinematic link
is .

Tt i wR i oft fig F Wt 3 Y o W it i wR fandt o fiig 1 wmdrer e 2:
1. parallel to the line joining the points /

foigaf &1 wiig %6t ¥ & ThiaR
2. perpendicular to the line joining the two points /

<l fSig el 1 Sits Xet ¥ & dead

3. not predictable unless configuration is known /



SATHA 81 & o1 b feb fa=ar S A 81

4. of no significance as relative velocity is zero between two points on the same kinematic link /
B e -TEl & i Wil I g et i R &) figalt » fa g @

Correct Answer :-

« perpendicular to the line joining the two points /

<l feigal 1 oitg Yet 1 & dead

66) The movement of the work piece per double stroke in cutting speed is called ./

Fd T | ufd 3 e ol @S ot 9ra Feard gl
1. Depth of cut / & I TGS

2. Milling / 9O

3. Grooving / &g

4. Feed / HRUT

Correct Answer :-

e Feed / HXUI

67) The machining operation of threading can be defined as: /
A& & w=ff sifav ot e wu & ufvnia fasan s wear @:
1. Smoothing and squaring the surface around a hole /

¥ P IRT 3R Fdg B! IRITS 3R NDR FMT

2. Sizing and finishing a small diameter hole /

BIC AT & B¢ BT THYF TG JHTIA

3. Producing a hole by removing metal along the circumference of a hollow cutting tool /

GRAAT HTe P IUBRUT B URFY & T YT Pl §STHR U ©¢ §AMT

4. Cutting helical grooves on the external cylindrical surface /

I TIHR Tdg R FSAGR (ferder) Wi i

Correct Answer :-

« Cutting helical grooves on the external cylindrical surface /

e TIHR Tdg R FSdlgR (Bferdwe) Wi i

68) In the case of fatigue loading of materials, the stress level corresponding to infinite life is known as: /
gerf & yifa wRor (Bfewr SifEm) & Teu #, 3 siaq & gy ufdad TR &I fHad ST oirar 82
1. Loading limit ) A&

2. Fatigue limit / syifar

3. Tensile limit / =T STAT

4. Endurance limit / =1 AT

Correct Answer :-

« Endurance limit / FRRTT T4

69) In the electro-discharge machining process, the work-piece and the electrode are submerged in .

fagga-uma =T ufsar &, ad e ok saags _ AR e F



1. vacuum / Fald

2. a dielectric fluid / U& WRIdegd &a

3. an electrolytic solution /Udh ﬁ?\'ﬁﬁ-@l'q‘al?:ﬁ faera
4, an abrasive slurry / T g TR

Correct Answer :-

« a dielectric fluid / T WRIGYd &d

70) If sea water is stored in a bowl and kept at rest, then the forces acting on it are: /

gfe Tt Uit B T FelR | qUT fayrarayT # 3@ S1er 8, 9 39 R $rivd 9¢ A ghm:
1. normal and shear forces / T 3R ST &

2. gravity, shear and normal forces / Wﬁfm, SOYUT 3R AT I

3. gravity and normal forces / WW IR I 54

4. gravity and shear forces / WW 3R 3UyquT 5

Correct Answer :-

« gravity and normal forces / WETUT IR I 54

71) Using the Relative Polar Coordinate System in AutoCAD, to add an 8 inch line that is 60 degrees from the end point of the line
created above the drafter would .l

sﬁﬂ%ﬁ(Aum%CAD)ﬁqﬁ&r odT FRERI® Usfa &1 IUART 8 $9 Ft 3T wig F U &l ST & FHUR 91 T3 36T & Sfd
fig oo &R T, I

1. type 8 back slash and enter /
8%@?@@“%@ (enter)m
2. type 8 forward slash and enter /
8 hIdS (forward) W TIU B 3R U (enter) BT
3. type 8 and try to use the dynamic input readout to find the end point /
8 3T B MR 3ifaw fig &1 Wi & o S1eAfies 39ge TS i13e &1 IudhT B HT TR Bl
4. type @8<60 and enter /
@8<60 TTET BT 3R TeR (enter) P
Correct Answer :-

o type @8<60 and enter /

@8<60 TTET BT 3R e (enter) B
72) In a flat plate convection heat transfer, local convection heat transfer coefficient at the leading edge is: /
TP TR We g &1 RIFTRU §, THE frTR IR R Tag- &1 RIFTRT Uie - 2:
1. Greater than the average heat transfer coefficient / ST S SHT IR ‘IUW q EEl
2. Equal to the average heat transfer coefficient / 3T ST IR "IUW & IR
3. No local heat transfer coefficient at leading edge / U9 P mMw ﬁ's‘ TIT B> ST RITTRUT 1IUT|?5 q%ﬁ Ea?ﬂ
4, Smaller than the average heat transfer coefficient / IR FSHT RITTRUT BIYIGE I Bler

Correct Answer :-

+ Greater than the average heat transfer coefficient / IR FSHT RIHTRUT ToTich el



In a CAD software, a point at location (6, 12) is to be mirrored along a line which passes through origin and makes an angle of 45%
anticlockwise with X-axis. The mirrored point coordinates will be .

TF CAD Hi%eaaX #, Fhe (6,12) T T foig 1 wsh Wt wrewr & avy wiafsfoa G smam & St arffSe % aregs & orar € 8w X-
axis ¥ 97 TEY T I faom & 45% 1 For eTaT §)1 TitEted fog Fders _ gem

1.(3,6)

2. (-12,-6)
3.(6,3)

4. (12, 6)

Correct Answer :-

. (12, 6)

74) In an internal combustion engine, during the compression stroke, the heat rejected to the cooling water is 80 kJ/kg and the work
input is 200 kJ/kg. The change in internal energy of the working fluid is: /

TS AR gg- §ui 3, Wi Wi & SR 63 U H R d o1 715 SoA1 80 fraisra/feun § 8k srf 39Ye 200
fraa/fem 3| sriert ava 3t siafves Hut & uRada e @:

1. 280 kl/kg
2. 120 ki/kg
3.-120 kl/kg
4.-280 kl/kg

Correct Answer :-

. 120 kl/kg

75) Which one of the following nuclear reactions takes place in the Sun? /
T # o & & #ta = oo shafwarg St 82

1. Fission / far@=s

2. Gamma emission / ITTHT IS

3. Alpha decay / T &I

4. Fusion / faer=

Correct Answer :-

« Fusion / 3=

76) Higher efficiency during the regeneration process in ‘Rankine cycle’ is because of: /
R T W GIoi- ufehar & R 3= ggar AUl aoig A 8:
1. Heat is added before steam enters the low-pressure turbine /

Y GTd I TE1S § HIY b YT B3 A Ugd ST STell oIl &

2. The average temperature of heat addition in the boiler increases /

SR H SSHT ST BT 3Nd dTgH 9edl &

3. The total work delivered by the turbine increases /
T3 GR1 $d a1 T B Sgar g

4. The pressure inside the boiler increases /
IR P 3R g Tgdl §

Correct Answer :-



+ The average temperature of heat addition in the boiler increases /

SR H SSAT ST BT 3N aTuH 9&dl &

77) If the pressure of steam is lower than the saturated pressure for a given temperature, then the state of the steam is: /
gfe fordt few o aruam & forg. w9 &1 g1e Aqw o1e @ &9 gar 8 |t uTg @) fRufa e g 8:

1. None of the above /BT@EH TIPS o1

2. Sub cooled condition / IURN (T4 Fee) FRufd

3. Saturated condition / ﬂ?ﬂﬁ Ryfer

4, Super-heated condition / Sifaw fRufa

Correct Answer :-

» Super-heated condition / ifaaw fRufa

78) Following all are advantages of ‘induction furnace’, EXCEPT for: /
et T+t o 9E F e &, TF #  Ea
1. Precise control of the operating parameters. /
THATAT WITEST AT HEF (A
2. Low melting losses and alloying elements. /
forereter 7 9 TR ST e T qe
3. Refining in Induction Furnace is effective than Electric Arc Furnace (EAF). /
IOr AL H TR FEAT R ATy Ag (U 1 qAqT § oFfd ware 21

4. It has no electrodes and electric arcs, which allows productions of steel and alloys low in carbon and occluded gases without any quality
problem. /

THH TS TAFEISH ST Totfares ok Tl gra & foreeh sreor famT el sorer St srweam 3 Frae o warta 91 § €6 sie ey et =1
SaTa 3T ST FehaT B

Correct Answer :-
« Refining in Induction Furnace is effective than Electric Arc Furnace (EAF). /

ST AET H TIRCHTOT FEAT Fo=d =91 AET (SUUT) T qAqT 7 e THra 2

79) A pipe, 40m long, is connected to a water tank at one end and flows freely in atmosphere at the other end. The diameter of pipe is
15¢m for first 25m from the tank, and then the diameter is suddenly enlarged to 30cm. The height of water in the tank is 8m above
the center of pipe. Darcy’s coefficient is 0.01. Discharge neglecting minor losses will be: /

TF UT3Y, 40 Hiex AaT, TP UTt B Sl A T DR TR JST §3MT 2 3N g OR W AgHSA A WA 81 SH A Uga 25 Hiex &
fore Uty &1 3T 15 Tt B, 3R FFR Ay S 30 A a weT faur i 81 ¥ H ur Y Gars ursu & $E | s MR W
21 SRIf &1 77Ut 0.01 8 1 ATER THATH P Jtem HA R HdgT g

1 11 m/s
2. 0.097m’s
3. 1.2ms
4. 0.087m%/s

Correct Answer :-

. 0.087m35s

80) All the following are unconventional machining processes, EXCEPT for: /

Fraferfera gt srataanra geftfHar gfEkmd €, v 1 g



1. Plasma arc machining / TeTSHT Ak HefTf=T

2. Electron beam machining / 3@3@7—[ g wefifaer
3. Abrasive jet machining / TaTEe St weff{w

4. CNC milling / #roet faferr

Correct Answer :-
+ CNC milling / Hro=<ft fafenr
81) Which component of Lathe servers the following purposes?

1. Giving an outer bearing and support the circular job being turned on centers.
2. Set or adjusted for alignment or non-alignment with respect to the spindlcenter and carries a center called dead center for
supporting one end of the work.

GYE & HIT A7 Teh MR TS g FLqr g2

1. T ST F7FET AT 3% it ax wfkasy et b et )
2. g1 g & Hare H @ or AT A-E@ & T e A1 T FEAT oY F F U S A awdT 39 ¥ e qa Fw v 7 7 arr
@l

1. Carriage / U

2. Tail stock / 3 ¥
3. Head stock / 2T ¥i%
4.Bed /aT

Correct Answer :-

« Tail stock / T ¥l

82) Which of the following statements is INCORRECT about Induction Motor? /
IRUT HieX & IR | S AT HYF T4 §

1. Induction motor will always run at a speed equal to the synchronous speed /

S W AT AT T o FLET AT F Fedl gl

2. Induction motors are also known as Asynchronous Motor /
U7 HIeH Hl A TR HIeT €T Fgl SATaT B

3. Single-phase induction motors are used extensively for smaller loads, such as household appliances like fans /
THA-FL Y07 HISH T ITTNT I AT 6 org o2 Farr o Frar St 8, st £ o sfy s soseont 3 o)

4. The difference between the motor speed and the synchronous speed is called the slip speed in Induction Motor /
T AT 3T TeARTIorH =T o = T ¥ I3 Hrex # oo wfie Fgr Smar 21

Correct Answer :-

« Induction motor will always run at a speed equal to the synchronous speed /

ST W gHAT AT T o FC&< AT & Fedl gl

83) Which of the following statements is CORRECT with respect to 'Notch'/'Weir'? /

fr=forfea & & 'At=/agT % 9y J 981 F99 T 7891 F

1. A weir may be defined as an opening provided in the side of tank or vessel such that the liquid surface in tank is below the top edge of
opening. /
T ST T & T AT 6 (heTE T2 &1 T2 ST (AT 6 &9 7 THCATIIA 61 ST FHaT ¢ ST 6 & # a3 qag gt offd e & =
2T 2l

2. Notch is used in large structure. /



T T TS HEAATSAN | STAN AT ST 2
3. Notch is used to measure small flow rate. /

FIE TATE &¥ &1 ATYA F Forw 1= 7 3920 fohar e )
4. Weir is made up of made of metallic plates. /

AL YT e | T4 ZraT 2
Correct Answer :-

« Notch is used to measure small flow rate. /

FIE TATE L FT ATYA T T 67 ST fofa e 2

84) Which of the following is NOT the source of Reactive Power (inductive loads) that decreases power factor? /
el & @ i a7 ot 9= w1 8@a (e 9) T2 8, S aTa) e F i F9 war 82

1. Induction motors / 9T HIEH

2. Transformers / ZTFEHIAT

3. Capacitors / FTRET

4. High Intensity Discharge (HID) lighting / 3= GIEGINRERE] [Td G'I'Igﬁ) UDRRT YT

Correct Answer :-

« Capacitors / HeTHA

85) Which of the following is NOT a part of a typical mechanical press? /
Forerferfi  # 7 7T ST A A e T i

1. Fly wheel / TS s8I

2. Crark, eccentric or other driving mechanism / %, TeFa e AT 317 FIETaT o
3.Ram /¥

4. Saddle and swivel table / &= 3% foaeret Taer

Correct Answer :-

« Saddle and swivel table / §==1 T et Tar

86) Which of the following is NOT an example of Indirect Cost? /
frefafEa & & S19 |1 s anTd T IaTee TE 32

1. Administrative salaries / TATH A a7

2. Telephone expenses / T THI T

3. Direct materials / ey STHIT

4. Rent / foFeraT

Correct Answer :-

« Direct materials / ScaeT STHIAT

87) CANCELLED

Latent heat of vaporisation is directly proportionalto ./
ATdIeHRUT P} I FHET F AT B B
1. change in volume / 3{Td o uRadq



2. change in pressure / GId o gRkad=
3. change in rate of heat transfer / &SHT RITHARUT Pt X # uRadq
4, specific heat / ﬁm T

Correct Answer :-

« change in pressure / QI§ o uRadq

88) CANCELLED

A bar of 12 mm diameter is tested on a universal testing machine and following are the observations.
Gauge length =200 m

Load at proportional limit =20 kN

Change in length at proportional limit = 0.2 mm

Change in diameter at proportional limit = 0.0025 mm

Find the value of Poisson’s ratio. /

12 f5ft =ma % ww T w1 o gRade qRar weftw ax far stmar § siv feferfa e ae s g
ﬁvr?«im‘s‘=200 mm

AT THT 9 91T =20 KN

AT TAT 92 F9TE & 999719 = 0.2 mm

AT AT 9% AT | FETE=0.0025 mm

TATEY % STATT HT T ATT FLl
1.v=0.557
2.v=0.208
3.v=0.355
4.v=0.456

Correct Answer :-

« v=0.208

89) CANCELLED

In radiation, heat transfers between infinitely long parallel plates. If a higher emissivity radiation shield compared to the plates is
used, then heat transfer between the plates would ./

Irftfira da FHHIGR Wel & dig fafdzor St wmiaRon 8, afe wel @t gaen § 3w Sesi fafevor 2fies &1 3uai fear
a8, oY Wel & S ST RITHiaRor gH:

1. decreases and then increase / 9cdl % G'ﬁT s dJedl %
2. increase and then decrease / gl % GﬁT b edr %
3. increase / aé_i

4, remain same irrespective of emissivity of the shield / Ytee B Sqoidmdl b EIESH i 99 T84

Correct Answer :-

« increase / a% 1

0) CANCELLED

The forging method used to reduce the cross sectional areaiscalled ./

SR FIE GAHA B HH B & (1T SUTNT Bt A1 aret wifot fafer & Pga gl
1. Upsetting / ST

2. Edging /Q‘I\;ﬂ"ﬂ

3. Swaging / TafofT

4. Fullering / Wﬁﬂ



Correct Answer :-

« Fullering / Wﬁﬂ

91) CANCELLED

Square threads are used in screw jacks in automobiles mainly for: /

ATHETEA R FAF A FERASF IO A &Y wmRm e smar g
1. Ease of manufacturing / f3rfator Y s

2. Cheaper as compared to other threads / 37 9 T TeAT § TEAT

3. Self-locking mechanism / TaF-ag g1 AT &

4. Higher efficiency / 39 <&IdT

Correct Answer :-

« Self-locking mechanism / ¥ag-ag g ATl I

92) An office worker wants to set standard time to complete a task "K’ comprised of three job
elements. He clocked work elements and chose totake 6 cycles as shown in given table. The
allowance for thetask is 12% and performance rating for each element is also given in the table.
The standard time to complete thetask will be
Note: User is supposed to delete unusual observations which are recorded. /

UF A HE FHT UF BE K 60 G FLA & (210 FT96 T979 (Hg 14T BLAT F1gadT g (e i
TR e AT 21 T 1 qed | ol FAl9 (AT AL ATTAHT 8 (@1 Y 6 = ol 67 HEe|
T & & Torw w7 129% 2 5f arferer § wodw 9o % forg w=eie i fr st g v @
T o e AT A Bl

e JUATTERAT BT 12 T TT AATHT AaATHAT BT
[ Cwyeles observed (minutes) |

[a[z13[«]s]s|

Job Element Performance rating

15 1 13 17 45 14 T2
30 20 26 72 25 23 110
3 -4 3 2 3 5 4 100%%

1. 49.66
2.52.66
3.50.66

4.51.66

Correct Answer :-

« 50.66

93) In an air-standard Otto cvcle, the compression ratio is 7 and the compression begins at 35°C
denoted as T1 and the pressure is 0.1 MPa. The maximum temperature of the cycle is 1100°C
denoted as T3. Temperature T2 will be
T AT-HTTE AT ATE (e |, AYTST A9 7 2 AT afiga35°C A= garg s Tl h &0 H
FETAT ST g 5% =919 0.1 MPa & | 99 &7 SAT9&ad argq™ 1100°C g 58 T3 F =9 # Fariam
AT Z AAT T2 _ ZFIT

1. 720.5K

2.400.5K

3.670.8K

4. 850.2K

Correct Answer :-



. 670.8K

94) The vertical force “Rey” for the given figure is A
= feETT T 57 FT w=9E T I Rev =

10 kN/m 12kN

1. 3525 kN
2.37.25kN
3.34.25 kN
4.36.25 kN

Correct Answer :-

* 3425kN

95) TN Svmbol” is used for which of the following tvpes of weld? /
= TN yfie F7 e FEERT T e ER s A b [ELSEELEICIEY:
1. Single fillet weld / f&Ter fFere 3o
2. Single V butt weld / T&He V 9 I8
3. Lap joint / & g
4. Double U butt weld / T8 U a a8

Correct Answer :-

« Single fillet weld / f&Ter fihete 3o

96) Onthe PV diagram, two processes ‘acbh’ and ‘adb’ are drawn as shown in the given diagram. For
path ach, if Q (heat given to the gas) =200 J, then W (work done)=80J For pathadb,if Q =
1447, then find the work done. /

PV =@ UL ST A%AT “ach” and “adb’ 7+ a1+ # @y T s I T €1 AT ach ¥
o, g Q @ Frdr T 3= = 200 J, TTW (FEaTTar®M@) = 80 J At ach & faT, I
Q=144 1, @t fohm 7T T AT P

1.1207)

2.24]

3.56J

4.64]

Correct Answer :-

e 24]



[ftensile stress at a point across two mutually perpendicular planes is 120 N/mm? and 60 N/mm?

respectively, then the normal stress acting on the plane is =i

IfE T IRTAR S &9 & dad GHAA &l 3 Ueh [deg IR deiel Uidael Haen 120 Nmm? 3R

60 N/mm? § dT T8 der IR Tramefiar g ufdad g

1. 30 N/mm?
2. 45 N/mm?
3. 90 N/mm?
4. 120 N/mm?

Correct Answer :-

120 N/mm?

98) Which of the following thermocouples is used to measure temperature ranging above 1000°C? /

1000°C & 3R & aRER & AMAE & A & AU efai@a # & wla § aoggaar
Ter fRaT e 87

1.PT 100/ PT 100
2. None of the above /ijaﬂﬁ@faﬂ%:rsﬁ
3. K type / K CIU

4. J type / J CIRYU

Correct Answer :-

+ Ktype /K CIgU

99) A single block brake as shown in the given figure has the diameter of the drum of 250mm and
the angle of contactis 90°. If the operating force of 700N is applied at the end of a lever and the
coefficient of friction between the drum and the lining is
0.35, then the torque that may be transmitted by the block brake will be_____ /

Ry F= 7 BETy T US Uh i® A ® 5 59 & ATH 250 T g ST f9dh & wrer 00 Bt
g1 T AL o & 700 N o7 T=Ta ae AR 217 g AL 37 AL AR & A1 T8 07 07/
0.35 &, T =11 3ok 1T o9 [T =T a4k d7eT 20

i 2

250 —=

=200

52 K RN A
of 1 [ary ol

-
N | 125y

L]
TOON

All dimensions in mm.

1. 87.35N-m
2. 88.75N-m
3. 83.75N-m
4. 85.735N-m

Correct Answer :-

+ 83.75N-m

100) [na Venturi meter, the diameter of the pipe is 4cm and that of constriction is 3cm. When water
flows, the heights of water level in pressure tubes are 15 cm and 20 cm. The discharge rate of

pipewillbe=___ _(take g=10m/s?) /
U AT e §, TR T AT 4 U 2 S G BT AT 3 U ) S O a2 a9 39
=1 T 9T % £ B FTE 15 T 5 20 T g 21wy i Fd g 2T 21

(g=10m/s? AT HT Fel)






